hiE e =258 jh250005
Logarithm Conformation Representationlc k3

! \ '
FhAREFETERAEY ILIN—DRF {,\ IR S 24

SRy 3t 45 [ANAZAWA
TRRFEFIMAT 4 7RI > X —  FEHI N o cenTE—
ABRRFD3T ¥ X — RIS P oo

B
v EfEMEEulerA1E2Z0IE, MEFEILFICEVWTIHEDERNBZAERXD—D

VinE TF TlImExZ = L7L")-__5?1*1*'NaV|er-StokeS/"7_7|‘D_WJ‘ ARNSY 7%

a £ 27COEBEBIBTE AT — LADORAABEARATR

\/)_ﬁ'%ﬁ"l*‘Navmr-Stokesz"ﬁl‘ ASATED N0 DT D RIEFTTHE IR D

EICMEE SBICHE &, BENATEBE CREMREED Z LR

BY V) $B A DL - Conservation Euler eq. New NO]SI -Conservation Euler eq.

o, a
. Adaptive Mesh Refinement = 37 TV (Pw) =0, D ~+V-u=0,
* Semi-Lagrange Method v, (pu®u) + Vp = 0, i Pra =0
e Logarithm Conformation o gt p ’
+ V- {(pE +p)u} =0 p

Representation ot

AR
2R TG T )ﬁ_ J @J_%r? ez
Euler/JIL,?f/L 1L, BF =
%1073 JLD il Al BE
KT AR 1(\Ie)w Non-Conservation Navier-Stokes eq.
Da,(x
EOR b - SHEEAWIIT B, p—r—+p(V k) =0,
)__%1*1*‘Navier-StokesJ’v‘EEWD pD“(x) FUp=(V-0)T,
*&i: L_T}[/ E hkF?\jl/@ji_g@ DDt 147!
p——+yp(V-k) = (y — 1)o:Vu" + V- (VT)

Dt RePr

2% 7tViscous Sod Shock Tube Problem




	スライド 1

